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sound in air increases by............ 0.61 cmis.
- N , Natureof . =~ . . - .
. Which one of the given property is , , : ot ol : :
2 common between lght e O ﬁgﬁ?d and () Polarization () Medium @ Difiraction
The working principle of Michelson o : , ‘
3 interferomegt]e?‘i_s based on division of,.... @ Ampliude () Wave front - () Wave length (O None
'4_ ﬁgﬁgg@a\i\{gékcanbe obtained in the @ Cyclic O Isolhermal (O Adiabatic () Isochoric
If temperature of the heat source is | , | a Remains E(r:srgases
5 increased, the efficiency of a Camot -~ () Increases @ Decreases () (ot () oo
engine............ _ . , decreases
f the kinefic energy of 1 kg is 1 joule, its ~"- o~ " @& JI32misec
6 Velodily is, - gyolTKkgist] () 2misec O 5 misec () 4misec @
The pressure will be low where the ‘ | - } ' ) '
7 spee% of the fluid is........ - Ozeo @ High O Low O Con{staﬁt
The équation of continuity for fluid flow
8 can be derived from the gonservation (O Volume - @) Mass (O Enegy () Pressure
of.i.e.. . g
9 dualior e oo veloely s @ power (2 Womenum (O Wk . () Inpule
10 Which one is the dimension of strain? @ o) O perep () MeLoTo) (O oLty
The percentage error inone side of - ,
11 cube is 2% than the percentage ervor i 2% ' 4% 6% 3%
the volumé of the cu eis’.,....g . O ’ O o ’ O .
Which one of the given pairs of ' e ' o :
iti i : : Speed : Power : Velocity : Displacement
12 3;3@{3}?&%%?;2 onescalarand one @@y acceleration O potential energy - fqrce O - momentum
Magnitude of the resultant of two . '
13 veclors of equal magnitude is zero, then 0° 90° 120° 180°
the angle begtween themis......... ' O O O O
ffaforce of 8 Newtonactsona5kg : .
14 object for 3 seconds the impulse actin 120Ns 40Ns 24Ns 3INs
on the object would be...... p ’ O O . : O
The rate of change in linear momentum ' : : ;
15 for freely falling t?ody is equal to ....... @ Veight O Power (O Inettia O Impuise
.« The momentum of inertia of a s here ' 1 2 1
18 s e s P O Mr? O - MR? Q_gMRz O FMR .
A spring of spring constant k is cut into k
17 three equal parts, the spring constant of 3k 9k k. -
each pgrt will be........ Pring O O O O 3
The ratio of velocity of sound air at 1 . : o .
18 atmosphere and 6 atmosphere is ....... O 1:6 O 11 Q 6:1 Q 13
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Time allowed for Section ~ B and Section - C is 2 Hours and 40 minutes.

Section-B Marks:; 40

Q-li  Attempt any TEN parts. Each part ca‘,rries'FOUR marks.
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Clearly Differenliate precision and accuracy for measurement?

Give the draw backs to use the period of simple pondulum as'a fime standard?
Name any four devices which works on the principle of moments? )
Define elastic and in-elastic.collision with examples?

Define the commercial unit of energy and its equivaience to Joule?

A soap bubble tooks black when it burst, why?

What is moment of inertia? on what factors It depends.

Explain the critical velocity of a satellite around earth and find its value?

Why do many trucks used wind deflectors on the top of their cabs? How do such
devices reduce fuel consumption,

Give one example of free and forced oscillation?

Explain why SHM the acceleration Is zero when the velocity is greatest?

When two system are in thermal eqUilébn’um. do they have same amount of K.E?
How would you justify that light wavés are transverse?

Section-C | Marks: 27

Attempt any THREE questions. All questions'carry equal marks.

(a)
(b)

()

Whal is Escape velocity? Find expression for Escape ‘velocily.

An object is traveling with a constant acceleration of 10 ms+2 How rauch distance wil it travel in 3¢ second
of its journey? ' -

State and Explain first law of thermodynamics? Also discuss its application.

Light is incident normally on grating which has 5000 fines per mm. At what angles does second order
spectrum of the sodium yellow light of wavelength 589 nm occur?

Find Newton's formula for the velocily of sound in air?-

Eight equal drops of oil are falling through air with steady velocity of 0. 2 m.s, If the drops recombine to
form a single drop. What should be the new terminal valocily?

Write brief notes on any two of the following.

(@)
{b)
{c)

Blood Flow Meter
Geo-slationary saleliites-
- Equilibrium



